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 א٠א 
אWאאא             =                ⇒1Q2Q

                                                         1A 1υ  =  n  2A 2υ       
)2−

                                            
                                =       4.0)105 2 ××.0(π 102.0( ××πn 25.0

n  10
101
101

6

5

=
×
×

=
−

−

10

875.1

F٢٠Eאא 
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cm אאאאאאא33 / mkg
א800 kg/m3٠ 

א 
אאא0.5 cm א 

1 cmאא1.5 cm  
⇒h cmh2 =  28005.00 110 ×=×⇒2211 hh ρρ =
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F٢٢Eא5 Cmא 
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